Le Conditionnel Passe
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ON ETRE

ON TENIR

ON RIRE

NOUS RIRE

TU RESTER
ON DEVOIR

TU BOIRE
TU OFFRIR

ON MOURIR
ELLES DIRE

NOUS VENIR

TU COUVRIR
TU DEVENIR
ELLES LIRE

VOUS BOIRE

TU POUVOIR
ON POUVOIR

TU NAITRE

ELLE MOURIR ON RECEVOIR

VOUS CROIRE

{j VOUS NAITRE

VOUS NAITRE

VOUS PENSER

VOUS POUVOIR ELLES REVENIR

ELLES POUVOIR

ELLES DEVOIR
ELLES ECRIRE

ELLES NAITRE

VOUS CONNAITRE



Solution

XOD=I=kFEWLLO®NO-—<xd<
NoO<DX<—-—WZEFWOX-Fx:=
I zO0 =T
2 =2o
OnwWwzZzNW-xxW®noOOLIx IO
I o X
= > a4 X




